A fraction means a park of something .or g number of parts of something.

There are wo parts to .o frochon:
» The number on top shows how many parts there

- )

This is called the numerabtor
The number on the bottom shows how many parts

This is called the derominator.

Often fractions are shown as shapes.
This circle shows the fraction L

3
The shaded part represents the numerator. Only | part is

shaded so0 the nuumerator is |

The denominator is the Lotal number of parts including the
shaded part.  This circle has been divided into 3 parts so
the denominator is 3

I
This rectangle shows the fraction _rl - 7 7
| part is shaded so the numerator is |
The shape has heen divided into &4 parts so the denominator is &4

Sometimes shapes have more than one part shaded.
&

2

Thia shape shows ﬂ This shape shows 6
2 parts are shaded b parts are shaded

S0 the numerator is 2 A0 the numerator is &
There are 5 parts in total There are 6 parts in total

So the denominator is 5 So the denominator is 6

When the nuwmerator .and denominator .are the same. Lt .is .a whole. On a
shaded shape this would look like this —— i’ i’

The numerator is 8 as all parts (The whole of 8
it) ia shaded and the denominator isa 8 hecauwse 8

there are 8 parts.




Extra Support Mathematics - D | - 08.02.21
< § X d) Look at the hars you have shaded. Use

them to answer the .questions helow .

Equivalent fractions (2) A L ]
‘ is equal to how many o s? a

Hawve .another read through the Extra Support Fractions is equal to how many 1 g7 Q
Enxcplanation above. When you think you 6 6
remember what a froction is, start the questions helow.
You could also take another look .at the Weblink -

o Shade % of each bar model.

&

This bhar show.s

Rzm.amb,@r,to,count}wwm,ang,parbsﬂwzwzm,tom ‘_TMM

(The Denominator) .and how many parts are shaded
(The Numerator)

o Shade the bar models to represent the fractions. @

[T e
Wi ——
—

a) Shade 1 of the bar model. This bhar shows
2 Sixthe

<« This bhar shows I
| | halves. 0 %

W hy —t—
-

N'—n o

| | |« This bar shows
Ninthe

|
b) Shade §c-f the bar model. 1 |
2

|

|
1
3

Ly

This bhar shows
quarters.

Look at the hars syou have shaded. Use them to
answer the questions bhelow .

- L

|
1
0 1

2
9) Shade 2 of the bor model. 2. 1 []
SIS equal to how manygs? —
<!| This har shows 0 L I:l
| l slncths gis equal to how manyas? =

M= ——


https://www.youtube.com/watch?v=n0FZhQ_GkKw

Day 2 - 09.02.21

Take a look at this YouTube video explaining how to
use a fraction waoll to work out equivalent fractions.
https://www.youtube.com/watch?v=8Lp0xrtgOco

Equivalent fractions (1)

‘ o Use the fraction wall to complete the equivalent fractions.

1 1
F] 7
1 1 1 1
4 4 4 4
1 1 1 1 1 1 1 1
] ] 8 8 8 8 8 8
N.otice how the shaded part of each har is the same o 1o b) 2__4 g L_1_3
length. They are equivalent. 2 4 4 8 4

Now hove a go at the equivalent fractions helow .

o Here is another fraction woll. Use it to decide
w}u,ch,o;,t}w/s,tatzmzni&bzl,ow are true ond

o Shade the bar models to represent the equivalent fractions.

&

a)

% % which .are M Tick the correct .answer.
1_3
1 1
Tl i1 1] 121 26 - -
6 | 6| 6| 6 |6 |6 - i -
3 3 3
1 1 1 1
b 4 4 4 4
) 1 1 1 1 1 1 1
2 2 T T T T 5
1.5 1 1 1 1 1 1
Afafalafafalala]aja] 2 g o ° 2 g 2
10[(10(10[ 101010 10|10|10| 10 True False
a) % is equivalent to % [] []
OF 1T [ 1 [ 11 1
5 5 5 5 5 r " 3
4_38 b) 3 is equivalent to a ] []
Afafafafafala]afa]a] * °
101010101010 |10 (10|10 ]| 10

) % is equivalent to % [] ]


https://www.youtube.com/watch?v=8Lp0xrtq0co

Day 3 - 10.02.21

o Use the fraction wall to help you complete the
Equiv.alent fractions below

Equivalent fractions (2)

o Shade the diagrams to help you complete the M

equivalent fractions.

The first one has been done for you,

a)
i_2
376
1 T [ Lo 1 | BT 1
2 T . B % 70 e | s | & |.&
SLE AT (Pl (A l.l_l_ e I ) () [0
b) il0/10|10 |10 |10 |70 |70 | 70| 70 | 710
1_
=
10
1_ 4 _ 3__6
5= b 5= c}4
4]
1.
4 12 2
d—: — E_= — _——= —
) A ) . ﬂg "

Match the equivalent fractions.

Now see if you can make up 2 of Your own using

1 2 the fraction wall to support you.

2 8

1 E E:l_ = =— h:| =
3 4

1 2

4 6




Day 4 - 11.02.21

Count in fractions

Counting in fractions .can bhe quite tricky when .only
using numbers, so lefs take o look at counting in

One of the most important things to rememhber when
counting fractions is that when the top and hottom
rwmber are the same, it is o whole or |.

Hzrzbs,apizz,aﬂw,t}mbmn,djﬂid@d

ﬂ E% 4/,i,n,l;o b guarters.
s ‘E:Ll You can clearly see that if we put

z‘g; E‘Ey those 4 pieces together, we would have

a whole pizza or | pizza.
So if we were going to count the parts of the pizza to
get to | whole or | it would bhe like this.

e g1 4 T B 1|
&1 & &1Lx &0k
G W, W
2! £ ; 44’1 =
4 E 4 Z_ =1 (whole)
Notice how the top rumber goes up in equal
amouwnts (ls) whilst the denominator (hottom ruumhber)
stays the same.

1

So how would we continue counting after 1?
a1 & &tk &Lk S
W oW WP
2 3 4
4 4

=1 (whole)

N

p

The answer is, in exactly the same way. Like this

4 = 7 e -
IS b~ P G P
- ~‘3 Sl ﬁ oY 5~ > '(“'_ R
s 1y & ENE e, 13 sl
{3 0 e ¥ iy %
; T S AR LT
Y & ) A
= st

So the whole sequence counting in quarters is:

1 1

=

£

-
W

21 | 3
4l |3l |1?

On a numberline wsing hars, it would look like this.

3

— | =
e 'hlm
| w
ot
[
L
—
E L]
i
FY
—

Using the hars helps you to see each fraction clearly. When
a har is full, thats o whole and you start a new har.



N.omw its yowr turn to hcwz,a.,go

) 1 1% 2 3
A Halves
| I I |
0 I D e
B | D
h)  Fifths
= 54 15 2 12 2
0 s 5 5 s
| | ] | | I i | | ] I
| | | | | I | | | | I
<) Tenths

-

o
=~
o
'—L
o=




Enxctra Support Mathematics - Day | - 08.02.2] - Answers

Equivalent fractions (2)

Hawve .another read through the Extra Support Fractions
Enxcplanation from last Friday. When you think you
remember what a froction is, start the questions helow.
You could also take another look .at the Weblink -

Rzm.amb,ar to ,count)ij ﬁmng,paxi/sﬂwzwzm,to,tai
(The Denominator) .and how many parts are shaded

(The Numerator)

o Shade the bar models to represent the fractions.

a) Shade 1 of the bar model.

&

|
|
0

b) Shade §c-f the bar model.

N'—n o

This hor shows
Hoalves.

This bhar shows
Quarters.

0

¢) Shade %of the bar model.

|
|

1
2

- L

|
|
0

|
|
1
2

This bhor shows
Sixths

B

d) Look at the hars you have shaded. Use

them to .answer the questions
1. 1
S is equal to how many - s?
1. 1
S is equal to how many — s?

o Shade % of each bar model.

below.
2

4
3

6

This bhar show.s
Thirds

(=

[T e
Wi ——
—

This bhar show.s
Sixths

o

___j*_---

W hy —t—
—

|

|
1
3

This bar shows
MN.inths

o

W sy —t—
=

|

|
1
3

2. 1
SIS equal to how many — s?

2. 1
S is equal to how many & s?

Look at the hars syou have shaded. Use them to
answer the questions bhelow .

4

6
6

9

&


https://www.youtube.com/watch?v=n0FZhQ_GkKw

Day 2 - 09.02.21

N.otice how the shaded part of each har is the same

Th@g are equivalent.
Now hove a go at the equivalent fractions helow .

length.

o Shade the bar models to represent the equivalent fractions,

2

a) 1
2
1 1 1
6 B &
b) 1
2
1
10

B | =
o |

B | =
<:=|""'

U |
Sl

4

Take .a lock at this YouTube wideo excplaining how to
use a gr,a,otton waoll to work out equiv.alent }r,a,otwm

https://www.youtube.com/watch?v=8Lp0xrtgOco

o Use the fraction wall to complete the equivalent fractions.

1 1
>7 5]
1 1 1 1l
] 4 ] ]
1 1 1 1 1 1 1 1
] ] 8 8 ] 8 ] 8
2 A 6
1= by 2__4 o L__3
a 4 17T, 8 4

o Here is another fraction woll. Use it to decide

va}u,ch,o;ﬂw/s,taizmzrt,bsbzl,ow are true ond
which .are ia,bsz Tick the correct .answer.

2

1 1 1
3 E] ]
1 1 1 1
4 4 4 4
1 1 I 1 1
5 5 5 5 5
1 1 1 1 1 1
B ] 6 [ 6 ]
True False
a) % is equivalent to % Qr []
b) % is equivalent to % |:| @/
c) % is equivalent to 3 g []

6



https://www.youtube.com/watch?v=8Lp0xrtq0co

Day 3 - 10.02.21

Equivalent fractions (2)

o Shade the diagrams to help you complete the
equivalent fractions.

The first one has been done for you,

a)
1.2
3%
b
) 5
1_
2
10
)
1 L3
4
12

Match the equivalent fractions.

1 2
2 8
1 2
3 4
1 2
4 6

o Use the fraction wall to help you complete the
Equiv.alent fractions below

1 i [ 1 1 | [ 1
o I A R ) i ] | e S ol | |
SLE AT (Pl (A J_I =t ksl (0 Bl Do) 075 BN R =
ijo|jo |70 |70 |10 |10 | 10| 70 | 70 |10
2 8
1 4 3 _ [
-— h—: CJ'—_
n}5 10 }5 10 4 3
3 4 4
2
dl— = — gl —= — ==
) A ) 5 f}g -

Now see if you can make up 2 of Your own using
the fraction wall to support you.

O = = h== =




Day 4 - 11.02.21

Count in fractions

Counting in fractions .can bhe quite tricky when .only
using numbers, Ao lets toke a look at counting in

One of the most important things to rememhber when
counting fractions is that when the top and hottom
rwmber are the same, it is o whole or |.

Hzrzbs,apizz,aﬂw,t}mbmn,djﬂid@d

ﬂ E% 4/,i,n,l;o b guarters.
s ‘E:Ll You can clearly see that if we put

z‘g; E‘Ey those 4 pieces together, we would have

a whole pizza or | pizza.
So if we were going to count the parts of the pizza to
get to | whole or | it would be like this.

e g1 4 T B 1|
&1 & &1Lx &0k
G W, W
2! £ ; 44’1 =
4 E 4 Z_ =1 (whole)
Notice how the top rumber goes up in equal
amouwnts (ls) whilst the denominator (hottom ruumhber)
stays the same.

1

So how would we continue counting after 1?
a1 & &tk &Lk S
W oW WP
2 3 4
4 4

=1 (whole)

N

p

The answer is, in exactly the same way. Like this

4 = : e -
IS b~ P G P
- ~‘3 Sl ﬁ oY 5~ > '(“'_ R
s i1y & ENE e, 13 sl
{3 0 e ¥ iy %
; T S AR LT
Y & ) A
= st

So the whole sequence counting in quarters is:

1 1

=

£

-
W

21 | 3
4l |3l |1?

On a numberline wsing hars, it would look like this.

3

— | =
e 'hlm
| w
ot
[
L
—
E L]
i
FY
—

Using the hars helps you to see each fraction clearly. When
a har is full, thats a whole and you start a new har.



N.omw its yowr turn to hcwz,a.,go

) V2 1 1% 2 1% 3 3%
Halves
| | | | | |
d Il | N e e R
B | e 11
R
B |
h)  Fifths
2 1 2
1[—}§ Sl I [1—]1— 12 2
0 5 5 5 5 5
| | | | | I | | | | I
| | | | I I | | | | I
<) Tenths
4 5 6
1—| 1= — | 1L
[ o| Y% [ 15

1 2 [3| 415761 7 [87[9 10,2 3
0 — = |l=ll=ll=ll=|=|=||l=| 1 1 1= || 1=
10 10 |10([{101lL210J] 10| 10 | 10|10 10 10 10

| | I I I |

I I I I

1
I I | l
| I I



